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During the ancient period poets were patronized through various institutions.

A. supported B. respected
C. opposed D. scolded
Answer : (a)

There is a tendency to treat social changes as mere development in terms of
accumulation of wealth.

A. position B. predisposition

C. thinking D. idea

Answer : (b)

People avoided him for his high mindedness.
A. toughness B. strong principles

C. anger D. whims

Answer : (b)

Advocacy is one major component of any new programme.
A. promotion B. opposition

C. critique D. liking

Answer : (a)

He has been part of the all dissident activities.
A. rebellious B. supportive

C. conformist D. legal

Answer : (a)

The statutory corporate tax which forms the major income of the government has not
changed this year.

A. legislature B. unlawful

C. government D. legal

Answer : (d)

He tried to avoid saying something that would implicate him further.
A. reward B. incriminate

C. encourage D. incite

Answer : (b)

The ability to imagine and connective a common good is inconsistent with what is known
as 'pleonexia’ is a major struggle for a good democracy to realize.

A. Greed to grab everything for oneself

B. Greed to accumulate more and more wealth

C. Dislike for others

D. Over ambitious

Answer : (b)

It is encouraging to see India's indigenous cinema is going places.
A. homogenous B. classical

C. home-grown D. Non-native language

Answer : (C)

Emboldened by its success, the leader now plans to go ahead with the plan and
implementation.

A. Encouraged B. Disgruntled

C. Succeeded D. Failed.

Answer : (a)



Antonyms

«» His religious views are rather fanatical.

A. bigoted B. rabid
C. moderate D. militant
Answer : (C)

+ Religious fundamentalists often consider the followers of other religions to be heretics.
A. dissenter B. believer
C. renegade D. apostate
Answer : (b)
+ According to G B shaw, men have become inert. Therefore, life force has chosen
women to perform its functions.

A. lively B. quiescent
C. dormant D. apathetic
Answer : (a)

+ Some of the men are highly misanthropic.
A. anti-social B. philosophic
C. atrophic D. philanthropic
Answer : (d)

% The teacher was a very profound man.
A. sincere B. erudite
C. scholarly D. superficial
Answer : (d)

+« His handwriting is readable.
A. well-written B. decipherable
C. illegible D. comprehensible
Answer : (C)

% Mohan is his steadfast friend
A. committed B. unwavering
C. unfaltering D. unreliable
Answer : (d)

+ Radha often goes tempestuous while debating.

A. calm B. violent
C. fierce D. vehement
Answer : (a)

< The thief had very vital information to pass on to the police.
A. crucial B. inessential
C. indispensable D. fundamental
Answer : (b)

«+ His lectures are often wordy and pointless.
A. diffuse B. concise
C. garrulous D. voluble
Answer : (b)

Idioms and Phrases

« Bein eclipse

(a) Less successful (b) Feeling happy
(c) Very successful (d) Being defeated
Answer : (d)

+ Ways and means



(a) A technique

(b) Methods of achieving something

(c) Norms and regulations of doing something
(d) Improving one’s way of doing

Answer : (b)

< Upinarms

(a) Very happy (b) Very satisfied

(c) Very angry (d) Feeling fine
Answer : (c)

+ Big ticket

(a) Very less (b) Very costly
(c) Very easy (d) Not much
Answer : (b)

< Bolt from the blue

(a) An event or piece of news which is unexpected
(b) Desirable event or news

(c) An event which takes place as planned

(d) News which has been long expected, but arrives late
Answer : (a)

+ Be alaw unto yourself

(a) Behave unconventional and unpredictable
(b) Abide by law and order

(c) Ask others to follow the law

(d) Create law and order for others

Answer : (a)

< Spiff up

(a) To make oneself look neat

(b) To make oneself look untidy

(c) To make oneself look arrogant

(d) To appear on the stage as a baboon
Answer : (a)

< Run wild

(a) To run like a wild animal

(b) To treat anyone like a wild creature

(c) To feel like a wild animal

(d) To grow without any control

Answer : (d)

+ Wind down

(a) To relax after a period of activity

(b) To act furiously after a period of silence

(c) To speak out the truth to people

(d) To act on the ground

Answer : (a)

+ Mellow out

(a) To feel bad about other’s enjoyment

(b) To like and dislike people concurrently



(c) To enjoy oneself without doing much
(d) To work hard and doing much work
Answer : (c)
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Spotting Errors

A company of five thousand soldiers. (a)/having marched tirelessly for over five days.
(b)/ have just moved into their cantonment. (c)/No error(d)

Answer : (C)

Every person who believes in principles(a)/must stand up to fight(b)/ for their
convictions. (c)/No error(d)

(©)

The Olympic Games reflects(a)/the highest spirit of  (b)/human endeavor and
achievement.(c)/No error(d)

(a)

The principal of the school(a)/stressed the need for discipline(b)/amongst the students.
(c)/No error(d)

Answer : (c)

Failure is the stepping stone to success; (a)/however, successive failure are not(b)/
successive stepping stones to success.(c)/ No error(d)

Answer: (c)

India's strengths are(a) /its diversity of culture and(b)/ the spirit of tolerance in it's people
(c)/No error(d)

Answer : (C)

Once considered ninth planet of the solar system,(a)/ Pluto is today listed as the(b)/
largest dwarf planet of the solar system. (c)/No error(d)

Answer : (a)

The greatest glory in life(a)/ is to be able to realize ones dreams and
ambitions(b)/without trampling on those of others.(c)/No error(d)

Answer : (b)

To be able to manage one's(a) /anger is a reflection of an individual's(b)/ Psychological
maturity.(c)/No error(d)

(b)

A honest mistake(a)/is no more than that; (b)/just an honest mistake. (c)/No error (d)
Answer : (a)

Most Expected Questions for CDS 1 2023 GS

Which one of the following gases is released mostly from landfills in urban areas ?/

AFITATET 7 O -4 Ueh 3 A &1 7 Her-4R1d &7 (A5Tthel) T 31Teeha? feleheld! &7

(a) Nitrogen/sTrsersie (b)Hydrogen/gTgatatel
(c) Methane/AdsT (d) Oxygen/3iTerdiste
Answer : (c)

Which one of the following is most sensitive to environmental change?/faFifaif@a & &
FleT-aT1 Teh gATeRolt aRader & ufa aaifs dagaeier &2
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(a) Amphibian/33TI=R (b) Reptile/a 0T
(c) MammoOal/Ed=Tardt (d) Insect/hre

Answer : (a)
Which one of the following is the largest source of electricity in India?/efaf@d & &

HIA-AT Teh HRA # fdggd &1 Fad 37 A 82
(a)Hydropower plants/da1-fersTell T3

(b) Nuclear power plants/aTTf&ehT fasTelr Ia=
(c) Thermal power plants/dT9-fatd &=

(d) Wind energy/d9asT 3aiT
Answer : (¢)
The HIV virus weakens the immunity of a person because it destroys/ HIV %EITUIﬁ?&\T

ST T ULRETHAT fohd TR hHIR hld &7
(a) Mast cells/FEdel PHIRAAII Fl TS Hh
(b) platelets/ITEhIUT3IT (Celeele) I 7S Hich
(c) erythrocytes/RFUT3T &l ASC Fleh

(d) lymphocytes/fRHIUI3T T A5C FIh
Answer : (d)

Which one of the following air pollutants combines with the haemoglobin of human blood
and reduces its oxygen-carrying capacity, leading to suffocation and may cause even

death?/fAF=Ta & & & #leT-H1 Teh aTg TGeh AT Tl o GIAT NS o AT HATTSTT
BIehY TTeFETSTeT o SiTel shY SHehT &THCT & ehal T ¢, [STHY QATHaRIE Blell § AR Hcg e g
Gehll 82

(@) Chlorofluorocarbon/FeaRIF3RIhTe e

(b) Fly ash/%erTs ¥2r

(c) Carbon monoxide/&Tee AATFASS

(d) Sulphur dioxide/TeW ST TFHTSS

Answer : (¢)

Which of the following is a chemical formula of quicklime?/futufyf[kr e I vuc> pu dk
Jkhk;fud B= D;k gA

(a) Ca,0 (b) Ca;03
(c) Cal; (d) CaO
Answer : (a)

Which of the following is also known as Carbolic Acid?/futufyf[kr e I: dku Ik dkckfyd vty d
uke i Hh tkuk Ekrk gA

(a) Phenol/fQuky

(b) Hydroxide/ gkbMkD 1 kbM

(c) Sulphuric Acid/x/kd dk vEy

(d) Ethanol/, Fkuky

Answer : (b)

A 100 W electric bulb is used for 10 hours a day. How many units of energy are
consumed in 30 days?/ ,d fo%r cYc tk 100 W dk g] ,d fMu e 10 %V mi ;kx e yk;k tkrk
gA 30 fnu e fdru ;fuv Atk 0;; gkxh?
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(@1 (b) 10

(c) 30 (d) 300

Answer : (C)

An echo is heard after 5 seconds of the production of sound which moves with a speed
of 340 m/s. What is the distance of the mountain from the sources of sound which
produced the echo? / f&ft safy @ {5 Sw® Su= 819 @ 5 @S ugad g=18 ad 2 | /ofu
dh pky 340 m/s g xit mRilu dju oky: 1gkM dh /ofu di L=kr Ii njh fdruh g?

(a) 0.085 km (b) 0.85 km
(c) 0.17 km (d) 1.7 km
Answer : (b)

A car undergoes a uniform circular motion. The acceleration of the car is / dkbl dkj
,dleku oriy xfr e xgjrh gA dkj dk Roj.k g

(a) zero/ T

(b) a non-zero constant/ v& AT Reris

(c) a non-zero but not a constant/ v& AR fog Rexie gl

(d) None of the above/ mi;Dr e I: dkbl ugh

Answer : (c)

With reference to earthquakes, which of the following statements are correct ?/3{sh&q &
oot H, fAeafaf@a 7 & wla-3 ua agr g2

1. Earthquakes largely occur along the converging plate boundaries./&{sh&q R IBEIEGH
31fFranT gfger aREHAT3HT & FATATR 3T £

2. Point of origin of earthquake in lithosphere is known as focus/hypocenter./FITHUS oI
H 3ehe hT ScuTal T Tieg SeaTH dhey/3Tdehs Hgelldl o

3. Intensity of earthquake decreases with distance from the epicenter./8{sh&q r Argrar
ifrdeg & gt & e T g

4. Epicentre of earthquake always remains over continents only./${&h#q T 3ifeieheg Had
HETeAIdl 9T &1 el & |

Select the correct answer using the code given below./wTd f&T aTT e T J2TaT T HET
3cR gfaT|

(@) 1 and 2 only/shdel 1 31X 2

(b) 1, 2 amd 3/1,2 3R 3

(c) 2 and 3 only/&adr 2 3R 3

(d) 1 and 4/1 3iR 4

Answer : (b)
Which of the following pairs of Indian State and tribal population are correct?/dRdr

T 3R AT SaEdT & A fai@d # O Hla-9 A8 TEra?
1. Madhya Pradesh : Largest tribal population./FmeIyeer: HalTees STallard
SAGEAT

2. Mizoram : Highest percentage of tribal population out of the total population of the
State /fASIRE: T A Fel TATEIT H AN STAHEAT T HTAhH Ffard




3. Chhattisgarh : Second largest tribal population after Madhya Pradesh/&cclg9Tg:

HEF TR o 1 GERT HThAH STeollcd FAHEIT aTell Ao
4. Arunachal Pradesh : Second highest percentage of tribal population out of the total
population of the State after Mizoram/3r&uTrerel Je=T: TRSIRE & dTe; AT T ool STAHEIT

A Y STASATNT STATEAT T T TH TA/TA o TR GET A

Select the correct answer using the code given below /w1 T 91T e o1 FATaT T TE
3cR gAT|

(a) 1 and 2 only/&hder 1 31X 2

(b) 2 and 4 only/&aer 2 3R 4

(c) 1,2 and 3/1,2 3iR 3

(d) 2, 3and 4/2,3 3R 4

Answer : (a)
Which one of the following is the largest freshwater lake in India? / Hkjr e Icli cMh vyo.k

ty ILoPN tyh >hy futufyflkr e It dku&lh g?

(a) Chilika / fpYdk

(b) Loktak / ykdvd

(c) Dal / My

(d) Wular / oyj

Answer : (d)

Rains caused by thunderstorms during the hot weather season (mid-March to mid-June)
in Karnataka are called / #+fes o ¥is1 =g (eg—ard @ wea—9[7) @ IRE afsa siwkvk d
PHROT 1 qrefl aul &1 4T BB oar 287

(a) Kalbaisakhi / dkyc/Bk[k

(b) Mango showers/ #1t zmaz

(c)Loo/y

(d) Cherry blossoms/ pijh Cykle

Answer : (b)

Which one of the following mountains separates the Black Sea and the Caspian Sea? /
fueufyflkr e Ii dku&lk 1or dkyk Bkxj vkj dfLi;u bkxj dk vyx djrk g?

(a) Urals/ ;ijky

(b) Caucasus/ @1

(c) Carpathians/ dkifFk;Ul

(d) Balkan mountains/ cydu iar

Answer : (b)

Which one of the following is not an exclusive right of the concerned coastal nations over
Exclusive Economic Zone (EEZ)?/ faRRre snfife &= (EEZ) wr wdftra adia Wt @1 @ a4
vikdkj] futufyflkr e I: dku& Bk ugh g\

(a) Survey and exploitation of mineral resources of ocean deposits/ egklkxjh; fufkik di [kfut
Lilikuk dk Bodk.k vkj nkgu

(b) Exploitation of marine water energy and marine organisms including fishing/ lenh ty Atk
VK] eRL;&xg.k lekghxhjht Ifgr lenh thok dk nkgu

(c) Conservation and management of marine resource./ lenh Llk/kuk dk Bj{k-k vkj tc/ku
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(d) Navigationof ships and laying down submarine cables/ tgktk dk ukpkyu vkj wvirilenh rkjk
idfeyh dk LFkkfir fd;k YfeNk; ke tkuk

Answer : (d)

In Which oen of the following groups of States in India is the Integrated Coastal Zone
Management (ICZM) Project being implemented as a pilot investment?/ Hkjr e] jkT;k d
frafafea & 4 fow g ¥ @ amh fdes & w9 4 wslsad adm &= ugsa (ICZM)
ifj ;ktuk dk dk;kflor fd;k &k jgk g\

(a) Gujarat, Kerala and Goa/ xtjkr] djy vkj xkok

(b) Kerala, Karnataka and Andhra Pradesh/ @3, ®-ites v amsg gder

(c) Guijarat, Odisha and West Bengal/ spe=ra, sifeem sk ul¥aw wma

(d) Maharashtra, Andhra Pradesh and Tamil Nadu/ weRrsg, sifer g ik affrarg,

Answer : (C)

Which of the following are constitutional provisions and laws for the protection of the

rights of the Scheduled Castes in India?/8TRel # 3Tg I ST & AHRT 6T GI&T &
forw fAefaf@d & @ la-a ddenfare graene 3R See 82
1. Article 17 of the Constuitution of India/#TRd & EfATeT T 37T 17

2. The Protection of Civil Rights Act, 1955/wT9TReh eI FR&T Jfafa#, 1955

3. The Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act,
1989/3rTq AT ST 3R HTHRT STATAAT (AR fvaron) rffaras, 1989

Select the correct answer using the code given below/ﬁﬁ%@ma@aﬂmaﬂ'ﬂ%’r
IcR gfAT|

(a) 1 and 3 only/ader 1 31T 3

(b) 1 and 2 only/aaer 1 31X 2

(c)1,2and 3/1,2 3T 3

(d) 2 and 3 only/&aer 2 31X 3

Answer : (d)
Which one of the following is not true about the powers of the Supreme Court?/3TddH

Ty & el & vy 7 Aeafaf@a & O Fia-a1 v acg 81 82

(a) The Supreme Court has original and exclusive jurisdiction in intergovernmental
disputes./3{aRRMTHHIT faaTET 7 3TTIH AT Hel R 3HeTed QAR WA B

(b) The Supreme Court has advisory jurisdiction on a question of law of fact which may
be referred to it by the President of India/3Tc# ATl Shlelel & T 3T feh el T2

W, ST HRA & Tegafa ganT 38 fAfese fohar o= gt FomgsaR 3 Rar T@ar g
(c) The Supreme Court has the power to review its own judgement of order./3TIddH

=TI 3191 ¥of T0T AT 31éer X YT det s Qufehed T B |

(d) The Supreme Court has the exclusive power to issue writs to protect the
fundamental rights of the people./STeTdT & el USRI I T&T & foIT ATfARIT SARY el
T Hefed AT ITITH AT & I g |

Answer : (d)




+ The Sixth Schedule of the Constitution of India pertains to the administration of tribal

areas in which of the following States?/8TRd & HTATeT T TS I Ae=faf@a A @
foheT TST A STTSATART 81T & WRITHT § I Il g2

(a) Assam, Meghalaya, Tripura and Mizoram/3/8&, Aelerd, QT 3R AR

(b) Meghalaya, Tripura, Manipur and Mizoram/®eTer, BT, A0 3R AR

(c) Assam, Manipur, Meghalaya and Tripura/3r&&, A0, Aerera 3T g

(d) Manipur, Meghalaya, Tripura and Arunachal Pradesh/&fOIqR, Aerera, QT 3ik
ROTTT Teel

Answer : (a)

+ Which one of the following statements with regard to the Ninth Schedule of the
Constitution of India is not correct?$Rd & HiAUT &I sidl Heqe & doer # Fefafad

H ¥ HII-AT Th FUA HEr oIeT g2
(a) It was inserted by the Constitution (First Amendment) Act, 1951/38 TTIeTeT (T2
L) ATATATH, 1951 & ATCIH T AleATeId fhaT 31T AT

(b) The Acts and Regulations specified in the Ninth Schedule shall become void on the
ground that it violates a fundamental right in Part Ill of the Constitution./aAdT 31eTgT &

fafafése A1 rfAfaTs ar fAfaTe s 53 3MIR IR 31T 81 STUaT foh g TTATeT & 1T
I3 ot Hifore 3R &7 SeoiasT FIAT B

(c) The Supreme Court has the power of judicial review of an Act included in the Ninth
Schedule on the doctrine of basic structure./3TeMY T o &gl R AldT 3eTe &

QAT e TR & =a1feh G daTor i rfFd ITIdd e & I & |

(d) The appropriate Legislature can repeal or
amend an Act specified in the Ninth

Schedule./ﬁﬁﬁﬂﬂ(jﬁﬁﬁﬁﬁ%m
aﬁmﬁﬁzﬂﬁﬁmﬁﬁwm
AT T e 2|

Answer : (c)

< Kwashiorkor disease in children is caused by/S=al & HIfAINE AT fovd HROT & AT
g7
A. sufficient carbohydrates but less fats in diet/3MTgR # Uaiied Srefgrage, foheq aar &
FHAT
B. sufficient carbohydrates and fats but deficient proteins in diet/3TTgR & Frefgrase 3T
T Y T ATAT, fohec] TEleT T halt
C. sufficient vitamins but deficient fats in diet/3TgR & gaTca fQerfdeT, fohec] I T ey

D. sufficient fats but deficient vitamins in diet/37TgR & gaTcd 94T, foheq IERIEGIEIC T

Answer : (b)
+ The mammalian heart is myogenic and it is regulated by nerves. The heartbeat

originates from/AATATT g UfRASTAF & 3R Tg A3 garT (IR gl §1 863 Teg
el & TR glar &2
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A. sinoatrial node/®rafoig s

B. QRS wave/ QRS>

C. T wave/ T 3@+

D. hepatic portal system/aTehciar feraffgenr 3uc=

Answer : (a)
The plant growth regulators are small, simple molecules of diverse chemical composition.

They are/d1eq aieT fo2=eh, el THMITAS AT & DI, AR AT &I &1 T FAT 8?2
A. carbohydrates, fats and proteins/&Tefgrage, adr 3R 9T

B. indole compounds, adenine derivatives, carotenoids and terpenes/gatel 4lfaleh, Tasitel
e, IS 3R g

C. fatty acids, glucose and vitamins/aHT-31Fel, ToehId 3T faeTf@e

D. vitamin C, vitamin D and glucose/faerf@= C, fderf@= D 31X sefrra

Answer : (b)
Consider the electromagnetic radiations having wavelengths 200 nm, 500 nm and 1000 nm.

Which wavelength (s) of the following can make visual sensation to a human eye?/d& %‘g?-r
YEhry fafehtult oY faram HIfSiT, fofeteh aRardert 200 nm, 500 nm 31X 1000 nm &1
fArfaiad 7 & ia-a1/7 AT Heafaiad 7 & Sid-a1/d dIeeT Al A7 T g ive-
331l & FehdT &/Hehd 87

A. 200 nm and 500 nm/200 nm 31X 500 nm

B. 500 nm and 1000 nm/500 nm 3 1000 nm

C. 500 nm only/shdel 500 nm

D. 200 nm and 1000 nm/200 nm 3ik 1000 nm

Answer : (C)
A copper wire of radius r and length | has a resistance of R. A second copper wire with
radius 2r and length | is taken and the two wires are joined in a parallel combination.

The resultant resistance of the parallel combination of the two wires will be/f3=aT r Ta
FFSTS/F Teh Al & AR T ITRIY R B Al &7 Ueh q@T aR, foraeht f3am 2r vd arwars/e, forar
T & 31X 3 St AR T Ueh AT AT F SST a737 1 1t dRY & AR GATeTe T
gROTAT Gfaer fohrdeT grom?

A.5R B. %R
c. R D. %

5 5
Answer : (d)

A parallel-plate capacitor of capacitance C4is made using two gold plates. Another
parallel-plate capacitor of capacitance C, is made using two aluminium plates with
same plate separation, and all the four plates are of same area. If pg and a p, are

respectively the electrical resistivities of gold and aluminium, then which one of the

following relations is correct?/&let I & GfeahrI3it I ol Teh TATAR Tlgohl TUTRT TATIT 3T
¢, TorgehT e C, 81 Ueh 3R HATeR ufgent AR, TfATeeaT &y e ufgehsit sl ofent saram
IR &, Ty aTRAT . &1 ¥t Fenfat dhr afeahr3it s 3ickTel ThaaT § 3R T3l ) afgsait
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T ST STER ¢ | ATE Aot X TR i 3y wfoRiuswdTd Haer pg 3R p. &,

ffaf@a & @ wia-ar gea=ea Tgr g2
A. C1>C2 B-C2>C1
C.C1pa=C2pq C.C:=C,

Answer : (d)

A photon of X-ray has energy of 1 keV. A photon of visible radiation has energy of 3
eV. In this context, which one of the following statements is not correct?/TeFg-TauT & Teh

BT &7 Fall 1 keV &1 g2 fAfhoT arel Tsh Wiela il FaT 3eV &1 5T Togdl & AfFafaf@a &
T HIFA-TT FYUT TET ABT &2

A. The wavelength of X-ray photon is less than the wavelength of visible radiation

photon./TFH-faRUT tIele T aRETEH, 52 fAfH0T Bl & ey & A Bl

B. Both the photons have different energies./alsil Bl &I FalT fHee g

C. The speeds of both the photons in vacuum are different/faaTa & glaT WIeIAT ST aTel RoeT
gl

D. The frequency of X-ray photon is higher than the frequency of visible
radiation photon/TeFH-fehIoT BIETHT i 3Tgice, & fafehoT Wielel & 3mgicd & 31t &

Answer : (¢)
The optical phenomenon that is primarily responsible for the observation of rainbow

on a rainy day is/asT & fehdll feeT Sratrely o G@rS Usat o T shle-Tr Fehrely esT &g &9
¥ Icar g7

A. diffraction/faacist

B. interference/cafciehior

C. dispersion/srhIotaT

D. reflection/dRTadel

Answer : (C)
Arrange the following state and union territories in the descending order on the basis of
length of their coastal line:/ frr=faRaa wsa &5 wfia atel &1 SA@! ad™ @1 D ddis

d vk/kj 1j vojkgh @e ei 0;ofLFkr dj#
i. Lakshdweep/ y{k}i

ii.Goa/ xkok

iii.Puducherry/ 1InPpjh

iv.Daman and Diu/ neu 0 nho

(@) ii.i.iii.and iv/ i, i, iii 3R gar

(b) i,ii,iv and iii/ i, ii, iv 3R goq

(d) iii,iv,i and ii/ iii, iv, i 3R Ty
Answer : (a)

¢+ Consider the following statements regarding India“s foreign exchange reserves. / Hkjr
d fon"kh ek HkMkj d Dic/k e futufyf[kr dFkuk 1j fopkj djA

1. Foreign currency assets (FCAs) constitute a major component of the overall forex

reserves. / on"kh eak 1fjLiflk;k (FCAs) lex fon"kh ek HkMkj dk ,d cefk *vd



gA

2. The foreign currency assets also include the effect of appreciation or depreciation of euro,
pound and yen held in the reserves. / fon*kh e@k VkfLr;k e HMkj e J[k k] 1kM vkj

;u dieY;of) ;k eY;%N dk chkko Hkh “kkfey gkrk gA

3. Capital outflows by foreign portfolio investors (FPIs) does not have any effect on India“s
forex reserves. / fon*k 1kVQkfy ;k fuo'kdk (FPIs) }kjk 1th di cfgokg dk Hkjr di

fon"kh eak HkMkj 1j dkb chkko ugh IMrk gA

Which of the above statements is/are correct? / mijka dFrkuk e I dku I 1gh g@g\

a) 1 only b)1,2
c)1,3 di123
Answer : (b)

¢+ Consider the following statements. / fuEufyf[kr dFkuk 1j fopkj dhft,A
1. Decline in gold prices leads to decline in a country"“s foreign exchange reserves. / bku
dh dherk e fxjkoV L n"k d fon"kh ezk HkMkj e fxjkoV vkrh gA
2. If the value of the rupee depreciates, the RBI intervenes in the forex market by buying
more dollars. / ;fn #i; dk eY; fxjrk g] rk ckekj e gLr{ki djrk gA
Which of the above statements is/are correct? / mijka drkuk ei I dku L' Igh g@g\

a) 1 only b) 2 only
c) Both 1 and 2 d) Neither 1 nor 2
Answer : (a)
% The Indian district of has become

the country"s first constitution literate district. /
dk Hkyrh; feyk n' dk 1gyk
Ifo/kku Bk{kj fEyk cu x;k gA
(a) Mumbai
(b) Kochi
(c) Dehradun
(d) Kollam
Answer : (d)
+« Union Minister Dr. Jitendra Singh has informed that by which year the entire country
will be covered by the Doppler weather radar network to predict extreme weather events
more accurately? / - ftra flig u Ifpr fd;k g fd fdl o'k rd ij n'k dk uvod ik
pje ekle dh AVukvk dh vi/kd Bvhd Hkfo";ok.kh djur di fy, doj fd;k &k, xk\
(a) 2024
(b) 2025
(c) 2026
(d) 2027
Answer : (b)

« Which of the following Indian song won the best song category in Golden Globe Awards
20237/ fukufyfkr e I fd 1 Hkjrh; xhr w xkYMu Xykc vokMl 2023 ei 10J"B xhr
Ji.kh €hrh 2
(a) Mann Bharryaa 2.0
(b) Chaka Chak
(c) Naatu Naatu
(d) Aabaad Barbaad(e) Ranjha
Answer : (c)

+« Which one of the following statements about the Organization of Islamic Cooperation is not
correct? / bLykfed 1g;kx IxBu d ckj e fukufyf[kr ei Ii dku& Bk dFku Igh ugh g?

(a) Its permanent Secretarist is located at Jeddah. / bldk LFk;h Ifpoky; tnnkg e fLFkr gA
(b) It endeavours to safeguard and protect interests of the Muslim world in the spirit of
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promoting international peace and harmony among various people of the world./Fj{k Vkj
Lj{k.k d fy, ¢;Ru djrk gA
(c) It is the largest inter-governmental organization of the world/
(d) It has consulative and cooperative relations with the UN. / UN di 1k bld: Tykgdkjh vkj
1g;kxh ek gA
Answer : (c)
The National Dope Testing Laboratory functions under / v/ku dk;' djrh g?
(a) Ministry of Health and Family Welfare / LokLF; ,o ifjokj dY;k.k e=ky;
(b) Ministry of Science and Technology / fokku vkj ck?kfxdh e=ky;
(c) Ministry of Youth Affairs and Sports/ ;ok dk;@e vkj [ky e=ky;
(d) Ministry of Home Affairs / xg e=ky;
Answer : (c)
The South Asian Association for Regional Cooperation was founded in/ 1g;kx IxBu dgk
LFkfir gwvk Fkk?
(a) Colombo / dkytck
(b) Islamabad/ bLykekckn
(c) Kathmandu / dkBekM
(d) Dhaka/ <kdk
Answer : (d)
In India, May 21 is observed as / Hkjr e] 21 eb dk fnu fdl :i e euk;k &krk g7?
(@) NRI Day / NRI fnol
(b) National Youth Day /
(c) National Technology Day / fnol
(d) National Anti Terrorism Day/ fojk/k fnol
Answer : (d)
Where was India"“s first Double Decker AC electric bus unveiled? / Hkjr dh igyh Mcy
Mdj , Ih byfDVid cl dk vukoj.k dgk fd;k x;k\
(a) New Delhi
(b) Mumbai
(c) Hyderabad
(d) Bengaluru
Answer : (a)
Which company has launched low-smoke Superior Kerosene Oil (SKO) for the Indian
Army in Jammu? / fd 1 diuh u tte e Hkjrh; 4SKO \
(a) Hindustan Petroleum
(b) Indian Oil Corporation
(c) Oil and Natural Gas Corporation
(d) Bharat Petroleum Corporation Limited
Answer : (d)
Which state has declared as the first state in the country to go fully digital in its banking
service? / fd 1 jkT; u viuh cfdx Lok dk 1jh rjg I fMFEVY gku okyk n*k dk 1gyk
KT Ak fd 3k g\
(a) Rajasthan
(b) Gujarat
(c) Karnataka
(d) Kerala
Answer : (d)
Which one of the following indices is now used by the Reserve Bank of India to measure

the rate of inflation in India?/fF=TeRT@T & & HieT- AT Frerolh TAT et &
& A AT & oRT SIIH TFoTar theh S@rT 3% JART & AT ST 572
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A. NASDAQ Index/ NASDAQ Faehr<Tdh
B. BSE Index/ BSE Fdar:ilsh
C. Consumer Price Index/3aIalerd oA {-Ic\thvl-iﬂa?

D. Wholesale Price Index/dleh $¢H Fahl:ldh
Answer : (C)
Goods and Services Tax likely to be levied in India is not a/delF=TeR & § & Hid-AT S1Id

# WIAT I 9RT Hidlddd AR TdT {aT T gt g2
A. gross value tax/8ehY deH HI

B. value-added tax/{eHd TYUTd I

C. consumption tax/3sIa1T &

D. destination-based tax/IdecH-3TRIAT HI(SFECAT-hEs-cFd)
Answer : (a)
Amartya Sen was awarded the Nobel Prize for his contribution to/3/7cAT deT &I 3sTch

hehd JAVH- &F & ANICI & oRU A FIEhT TeTel BehAT AT AT?
A. Monetary Economics/$ilgge 37T

B. Welfare Economics/aeHTUTeRRIT 31T

C. Environmental Economics/c#HT:IaIoiiH 3TATE

D. Development Economics/ddehldTcdeh 3TAT/ATET
Answer : (b)

*%* Squadron leader Avani Chaturvedi, the first female fighter pilot in the Indian Air Force (IAF),

has participated in the inaugural air exercise Veer Guardian, the exercise took place in
which country? / LDokMu yhMj vouh proinh] Hkjrh; ok;i buk WAF: el 1gyh efgyk yMkd
1k;yV] u mn?kVu ok;l vH; kI ohj xkft;u e Hkx fy;k ;g vH;kE fdl n* el gvk Fkk\
(a) USA

(b) Australia

(c) Japan

(d) Russia.

Answer : (c)

Which one of the following statements about the Gupta period in Indian History is not
correct?/#TReiT STgrd & (e el & IR H, AT RIT H § hloT-A1 HUT HE 781 87

A. Sanskrit language and literature, after centuries of evolution, reached what has been
described as a level of classical excellence through royal patronage./&€he HIYT Td HIgcd,

gfeat & e & geard, anﬁrmﬁwa:mmﬁaﬁqgmmammaswwa:mﬁ
afota frar T &

B. The status of women was redefined. They were entitled to formal education and hence
there were women teachers, philosophers and doctors. Early marriage was prohibited by

law and they were given the right to property. /A3t hr T Y ga1: aRenf fovar aram| &
roaies fRI6TT T gheR 2T 317 53T HROT & 37 Frer 7 AfFATT R8T, g va sieex 2|
FAAGS fAaTg Flefst GaRT fAer AT T 3¢ Uy T 31U |



C. Decentralization of administrative authority was impacted by increased grants of land and
villages with fiscal and administrative immunities to priests and temples./JoTTRaT Td H{EIT T

qaw%uﬁﬁaﬁuﬁmsﬁ%mu—maaﬁramﬁ%aﬁg(m 3feleTet U STt &,
FeMEfeTeh FedT T TahgeanioT TaTfad 2|

D. Land grants paved the way for feudal developments and emergence of serfdom in India,
resulting in the depression of the peasantry./31f& 3ieTeTaAl o SR H HTVCTHAT & 3&e7d HT AT
HIHC TrehTE T TET @ell, Forersh ARUTHETET H9h Fo & A g5

Answer : (b)
«» Every year 1st July is observed as SBI Foundation Day. In 2022, which edition of the day
was celebrated?

(a) 64th (b) 65th
(c) 66th (d) 67™
Answer : (c)

< Which one of the following tribal groups is dominantly found in the ‘Blue Mountains’«/‘=TelfaIT
TETS! (5] ASweod)’ H el & & Sle-A1 STotolicdIy g @ &9 § U STl 87
(a) Lambadas/e/FETsT  (b)Gonds/dlis

(c) Jarawas/sTIRar (d) Todas/drst
Answer : (d)
< Who among the following geographers is related to ‘primate city’ concept?/3s7& & isT

3TINCTST ST IR (ATSAT T HehoeT F Hfere &2
(a) August Losch/3TRRFe ai

(b) Mark Jefferson/#Teh STHIT

(c) Griffithe Taylor/fIfher cor

(d) W. Christaller/3seq, fhEerier
Answer : (b)
< Which one of the following islands is the largest?/fae=Ifof@d & & T 93T gdIT Sill-AT §?

(a) Borneo/atf1at
(b) Madagascar/A3RIERT
(c) New Guinea/= far=ir

(d) Sumatra/gATAT
Answer : (¢)
< Arrange the following Tiger Reserves of India from North to South/dRd & fAFITal@d camer

IRAT &1 (@R Red) #F 3caR & iAo 7 3R HAeg Hifav

1. Dudhwa/g‘aEIT 2. Panna/YosIl

3. Pench/dwr 4. Indravati/Sgradr

Select the correct answer using the code given below./ﬁﬁmmaﬁwmﬂﬂﬁw
Tf|

A. 4321 B.2,14,3

C.1234 C.1324

Answer : (c)
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Which river is praised in the fifth century Tamil epic, Silappadikaram?/dr=rdY TEY & afder
HEThTY TRAICTEIhRHA H b w1aT T Tl &l 18 87

A. Cauvery/srair

B. Godavari/anerady

C. Saraswati/@&adr

D. Ganges/3raT

Answer : (a)
Which of the following lakes is/are situated in Ladakh?/fai=ifeif@d & & ShiI-ar sfrer/afTer

e H FUd 8/8?

1. Tso Kar/c8l R

2. Pangong Tso/93iaT &t
3. Tsomgo/caiaTAT

4. Tso Moriri/caY AR
Select the correct answer using the code given below. /1< f&T 31T &e T FANT T FeT Secl
gaT|

A. 1 only/&del 1

B. 2 and 3 only/&hder 2 3iR 3
C.1,2and 4/1,2 3R 4

D. 2 and 4 only/dddl 2 3R 4

Answer : (c)
‘Tuvalu’ has become a point of discussion recently. Why?/*gare’ gToT &1 & =T &l Uah o

AT & | FAT?

A. Potato plant that could grow in high altitude/3TTe] T i, St 31 Sars R 8 3erar §

B. Place in equatorial Africa, where snow is found/faSerciiar 3ishent # Teh T, ST61 It I1$
ST &

C. New innovative technology to meet global Warming/ai\ﬁ?:@?l ATYsT ST TTHAT el el 14T
3ifera gtenfaehr

D. A country under threat of submergence due to ice melting and sea level rise/THT 2r, ST
% foErerl 3R THg T TR 961 & HROT AH ol & Tl # &1

Answer : (d)
Match List-I with List-1l and select the correct answer using the code given below and

Lists/F- 1 ! G- 11 & A1 AT ST 3R Gt & i 1T 717 e 1 9217 7 FéY Seck
gfav:
List— I/gd- 1 List — 1I/3E- 10
(Lake)/(3eT) (Type of Lake)/(afrer a1
HHR)

A. Bhimtal/sftHdTer 1. Lagoon/etafst
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B. Ashtamudi/3TSCaET 2. Landslide/3TF@elet
C. Gohna/aMgaAT 3. Tectonic/[Aadiaieh
D. Lonar/disiR 4. Crater/shel

Code/altg?

A.ABCD B.ABCD
3124 3214

C.ABCD D.ABCD
4 213 4123

Answer : (a)
Match List-I with List-1l and select the correct answer using the code given below the

Lists/Ee- 1 T - 11 & G GAfod v 3R it & w17 370 e 1 920197 T el 3cck
T :

List— I/&=-1  List— I/g&- 1

(States of NE India)/ (Location in Map)/

(R & Yafcel T) (AT 3 3rareafa)

A Tripura/FqRT

B. Mizoram/fA<iR#e

C. Nagaland/=TTels

D. Manipur/&#foTgR

Code/&c:

A.ABCD B.ABCD
2143 2413
C.ABCD D.ABCD
3142 3412
Answer : (d)

Consider the following tributaries of river Ganga:/ xxk unh dh futu Bgk;d ufn;k ij fopkj dhft,t
1. Gandak/ xMd 2. Kosi/ dklh

3. Ghaghara/ %kXjk 4. Gomti/ xkerh

Which one of the following is the correct order of the above rivers from east to west?/ mi ; Dr
afeat @1 yd @ uR=w 3 sk @1 9 sigew, fresfafaa & 9 a7 2\

(a) 3-4-1-2

(b) 2-1-3-4

(c) 2-3-1-4

(d) 1-2-4-3

Answer : (b)

Which of the following National Parks of India are declared as World Heritage by UNESCO?/
Hkja @ frafafea § 4 si9-—9 g seme (Feqa 9e), UNESCO g1 favg farmaa (eRisR) =ifva
fd, x, g\

1. Keoladeo National Park/ @atared et e+

2. Sundarbans National Park/ §&xa= g e

3. Kaziranga National Park/ @rsfikTr =rseh; m|ku



4. Ranthambore National Park/ 3vrerair sl 9=
Select the correct answer using the code given below./ uhpi fn, x, dV dk 1;kx dj Igh mRrj
pfu,A
(@) 1 and 2 only/ doy 1 vkj 2
(b) 1, 2 and 3 only/ doy 1]2 vkj 3
(c) 3, and 4 only/ doy 3 vkj 4
(d) 1,2, 3and 4/ 1J2]3 vkj 4
Answer : (b)
Match List-1 with List-Il and select the correct answer using the code given below the Lists:/
Iph& | dk Tph&ll di Bk Defyr dift, vkj RIfp;k d uhpi fn, dV dk i;kx dj Bgh mRrj pfu,t

List-1/ Tph& | List-11/ Iph&ll
(Railway Zone/ jyo thu@eMy) (Headquarters/

e[;ky:)
A. North Central/mirj e/; 1. Secunderabad/
fhidnjkckj

B. North Eastern/ mirj io 2. Jabalpur/ teyij
C. West Central

[ uf¥em weq 3.Gorakhpur/xkj [kij
D. South Central/nf{k.k e/; 4. Allahabad/
bykgkckn
Code:
@ A B C D
4 3 2 1
() A B CD
7] i3l
(ccA B CD
1 2 3 4
d A B CD
1 3 2 4
Answer : (a)

Which one among the following States of India has the largest number of seats in its
Legislative Assembly?/ Hikjr di futufyf[kr jkT;k e L fdl jkT; dh fo/lku BHk dh Bhvk dh B[k
lokf/kd g\

(a) West Bengal/ uf¥= gwma

(b) Bihar/ fcgkj

(c) Madhya Pradesh/ #ea gg@r

(d) Tamil Nadu/ rfeyukM

Answer : (a)

Which of the following statements about the Ordinance-making power of the Governor is/are
correct?/ Egreer g1 @) eduTel @) vfad @ aR d, Frefafea suet 4 @ sl—ar/9 g/ 8\

1. It is a discretiongiry power./ Iz & ddfea wfe €|

2. The Governor himself is not competent to withdraw the Ordinance at any time./ fdlh Ha
UG AARY B 999 o @ fog wa woaura +ft wem Y 2

Select the correct answer using the code given below./ uhpi fn, x, dV dk i;kx dj Igh mRrj
pfu,A

(@) 1only/ doy 1




(b) 2 only/ doy 2

(c) Both 1 and 2/ 1 vkj 2 nkuk
(d) Neither L nor 2/u rk 1 u rk 2
Answer : (d)

Most Expected Questions for CDS | 2023 Mathematics

If (b - 6) is one root of the quadratic equation x? — 6x + b = 0, where b is an integer, then what is
the maximum value of b2?

(a) 36 (b) 49

(c) 64 (d) 81

Answer : (d)

If X ={a, {b}, c},Y ={{a}, b, c} and Z = {a, b, {c}}, then (XN Y) N Z equals to
(@) {a, b, c} (b) {{a}, {b}, {c}}

(c) {®} (d) @

Answer : (d)

What is the maximum value of the expression m ?
()= (b)=

(©1 (d) =

Answer : (d)

Direction: Read the following information and answer the next four questions that follow :

Let the distribution of number of scooters of companies X and Y sold by % showrooms (A,B,CD and
E) in a certain year be denoted by S1 and the distribution of number of scooters of only company X
sold by the five showrooms in the same year be denoted by S2

Showroom | A B |C |D | E | Total number
of scooters sold

S1(n%) |19 |21 15|33 126400

S2(in%) |24 | 1820|308 | 3000

Number of scooters of company Y sold by showroom E is what per cent of the number of
scooters of both companies sold by showroom C?

(a) 52 (b) 54
(c) 55 (d) 56
Answer : (c)

What is the difference between the number of scooters of both companies sold by showroom A
and total number of scooters of company X sold by showrooms B and E together?

(a) 416 (b) 426

(c) 432 (d) 436

Answer : (d)

What is the average number of scooters of company Y sold by the showrooms A, C and E?
(a) 4613 (b) 431
(c) 426 (d) 416

Answer : (a)

Number of scooters of both the companies sold by showroom B is what per cent more than the

number of scooters of company X sold by showroom A?
(2) 785 (b) 837

2 1



Answer : (c)

If the sum of a real number and its reciprocal is 26/5, then how many such numbers are
possible?

(a) None (b) One
(c) Two (d) Four
Answer : (c)

A thin rod of length 24 feet is cut into rods of equal size and joined so as to form a skeleton
cube. What is the area of one of the faces of the largest cube thus constructed?

(a) 25 square feet (b) 24 square feet
(c) 9 square feet (d) 4 square feet
Answer : (d)

Consider the following statements:

1. If p is relatively prime to each of g and r, then p is relatively prime to the product qgr.
2. If p divides the product gr and if p divides q, then p must divide r. Which of the above
statements is/are correct?

() 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Answer : (a)

If 10™ divides 623 x 75° x 1052, then what is the largest value of n?
(@) 20 (b) 22

(c) 23 (d) 28

Answer : (a)

What is the digit in the unit’s place of the number represented by 3%¢ — 3897

(@3 (b) 6

()7 d)9

Answer : (b)

Direction: Read the following frequency distribution for two series of observations and answer
the next two questions that follow:

Class Interval Frequency
Series-| Series-11

10-20 20 4
20-30 15 8
30-40 10 4
40-50 X 2X
50-60 y y
Total 100 100

What is the mode of the frequency distribution of Series-11?

(a) 26 (b) 36

(c) 46 (d) 56

Answer : (C)

What is the mean of frequency distribution of Series-I?

(a) 33.6 (b) 35.6

(c) 37.6 (d) 39.6

Answer : (C)

Which one of the following is not correct?
(@) 1 is neither prime nor composite

(b) O is neither positive nor negative.

(c) If p x qis even, then p and g are always even
(d) V2 is an irrational number

Answer : (C)



A square is drawn such that its vertices are lying on a circle of radius 201 mm. What is the ratio
of area of circle to that of square?

(@11:7 (b)7:11
(c)20:19 (d)19:20
Answer : (a)

A right circular cylinder has a diameter of 20 cm and its curved surface area is 1000 cm?. What is
the volume of the cylinder?

(a) 4000 cm? (b) 4500 cm?
(c) 5000 cm? (d) 5200 cm?
Answer : (c)

The sum of the squares of four consecutive natural numbers is 294. What is the sum of the
numbers?

(a) 38 (b) 34
(c) 30 (d) 26
Answer : (b)

A hollow sphere of external and internal diameters 6 cm and 4 cm respectively is melted into a
cone of base diameter 8 cm. what is the height of the cone?

(@) 4.75cm (b) 5.50 cm
(c) 6.25 cm (d) 6.75 cm
Answer : (a)

N3 (v N3 (a3
What is the value of &=2 402y +z=0) o,

9(x-y)(y—2)(z—x)

()0 (b) 5
© 5 (d) 1
Answer : (b)

A lent B to some amount of Rs. 25000 and lent some amount to C at same 7% simple
interest. After 4 years A received Rs. 11200 as interest from B and C. How much did A lend
to C?

(a) Rs. 20000 (b) Rs. 25000
(c) Rs. 15000 (d) Rs. 30000
Answer : (C)

A road curve is to be laid out on a circle. What radius should be used if the track is to change
direction by 42° in distance of 44 m? (Assume n = 22/7)

(a) 60 m (b) 66 m
(€)75m (d)y8som
Answer : (a)

AD is the median of the triangle ABC. If P is any point on AD, then which one of the following is
correct?
(a) Area of triangle PAB is greater than the area of triangle PAC

(b) Area of triangle PAB is equal to area of triangle PAC

(c) Area of triangle PAB is one-fourth of the area of triangle PAC

(d) Area of triangle PAB is half of the area of triangle PAC
Answer : (b)

If ab + xy — xb = 0 and bc + yz — cy = 0, then what is§+ ~ equal to?
Y b

@ (b)-

©1 (d)o

Answer : (C)



When the class intervals have equal width, the height of a rectangle in a histogram
represents
(a) Width of the class

(b) Lower class limit

(c) Upper class limit

(d) Frequency of the class
Answer : (d)

Areas of two squares are in the ratio
m? : n*. What is the ratio of their perimeters?

(@m:n (b)n:m
(c)m: n? (dym?:n
Answer : (C)

he two sides of a triangle are 40 cm and 41cm. If the perimeter of the triangle is 90 cm, what
is its area?

(a) 90cm? (b) 135 cm?
(c) 150 cm? (d) 180 cm?
Answer : (d)

X, Y and Z start at same point and same time in the same direction to run around a
circular stadium. X completes a round in 252 seconds, Y in 308 seconds and Z in 198
seconds. After what time will they meet again at the starting point?

(a) 26 minutes 18 seconds

(b) 56 minutes 12 seconds
(c) 36 minutes 12 seconds
(d) 46 minutes 12 seconds

Answer : (d)

In a quadrilateral ABCD, «B = 90° and AB?+ BC?+ CD? - AD? =0, then what is ZACD
equal to?

(a) 30° (b) 60°

(c) 90° (d) 120°

Answer : (c)

The mean weight of 100 students in a class is 46 kg. The mean weight of boys is 50 kg and
that of girls is 40 kg. The number of boys exceeds the number of girls by

(a) 10 (b) 15

(c) 20 (d) 25

Answer : (c)

The difference between two angles is 15° and sum of the angles in radian is i—: . The bigger
angle is k times the smaller angle. What is k equal to?

OF (b)3
©7 (d) 2
Answer : (b)

The sum of the squares of sides of a right-angled triangle is 8,450 square units. What is the
length of its hypotenuse?

(a) 50 units (b) 55 units
(c) 60 units (d) 65 units
Answer : (d)

A triangle and a parallelogram have equal areas and equal bases. If the altitude of the
triangle is k times the altitude of the parallelogram, then what is the value of k?
()4 (b)2



(01 (d) 5
Answer : (b)
< If x varies as y, then which of the following is/are correct?
1. x? + y? varies as x? — y?
2. % varies inversely as y

3. n\/x2y varies as 2n,/x%y?

Select the correct answer using the code given below:
(&) 1 and 2 only (b) 2 and 3 only

(c) 3only (d)1,2and 3

Answer : (d)

< InaAABC, AC =12 cm, AB = 16 cm and AD is the bisector of AA . If BD =4 cm, then what
is DC equal to?

(@) 2cm (b) 3cm
(c)4cm (d)5cm
Answer : (b)

«+ Four circular coins of equal radius are placed with their centres coinciding with four vertices
of a square. Each coin touches two other coins. If the uncovered area of the square is 42

cm?, then what is the radius of each coin? (Assume m = %)

(@ 5cm (b) 7 cm
(c)10cm (d) 14 cm
Answer : (b)

%+ A circle is inscribed in an equilateral triangle of side 8 cm. The area of the portion

between the triangle and the circle is/ 8 I.3s dTel THaTg BRiSl & Aok TP goa @iar 137 |
RS dor g & 4 Rad = BT &=%a Sl dRe

(@) 11 cm? (b) 10.95 cm?
(c) 10 cm? (d) 10.50 cm?
Answer : (b)

%+ ABC is an equilateral triangle of side 2 cm. With A, B, C as centre and radius 1 cm three
arcs are drawn. The area of the region within the triangle bounded by the three arcs is/2

JH. ot &1 gHag Brst A ABC 21 g A, B, C &1 &5 MR 1 . FFoar arel 3 99 991
ST € | I Al gRT S @ fiaR ORT SF%e Fd e

@ (3v3 ——) cm?
() (V3-Z)em?
(©) (\/_—5) cm?
© (5 - V3) em?

Answer : (C)
¢ If chord of length 16 cm is at a distance of 15 cm from the centre of the circle, then the
length of the chord of the same circle which is at a distance of 8 cm from the centre is

equal to/fFt 9 & Pw= A 15 FH. T W 16 . BT SiaT R & | I SiaT B FTs AT D,
S as W o8 L ) Rerd 77

(@ 10cm (b) 20 cm
(c) 30 cm (d)40cm
Answer : (C)

% Two circles with centre A and B and radius 2 units touch each other externally at ‘C’, A
third circle with centre ‘C’ and radius ‘2’ units meets other two at D and E. The the area



*
A X4

e

of the quadrilateral ABDE is/2 unit a1 arel &7 gl &1 &= A @ B € @2 9 fig C W gy
et B B Th C Hes qAT 2 unit S5 a1 IRT god <M1 geat w7 fasg D dern E wef aRar |
IqYsT ABDE &T &at%hdl STd &Y e
(a) 2v2 sq. units
(b) 3v/3 sg. units
(¢) 3v/2 sq. units
(d) 2+/3 sq. units
Answer : (b)
% A circle is inscribed in an equilibrium triangle and a square is inscribed in that circle.

The ratio of the areas of the triangle and the square is/f&iT TwaE By & 3R U g = |
I D AR TP I 2 | RS T a9 BT U ST B2

(a) V3:4 (b) V3:8
(c)3+/3:2 (d)3+v3:1
Answer : (c)

%+ Three circles of equal radius ‘a’ cm touch each other. The area of the shaded region is :/
“a” cm 3o a1l 9 9 Ua—gR BT 98T U H WY B € | BRI ART B &Sk S dYe

l/ \

I( — | oy

| -_’,_—J . ‘ll
\_/

O (EDmn
() 1(257) a?sq.cm
© (V3 -n)a?sq.cm
@) (257) a2sq.cm

Answer : (d)
A is the centre of circle whose radius is 8 and B is the centre of a circle whose diameter is 8.
If these two circles touch externally, then the area of the circle with diameter AB is/8cm
qrel gl BT B AT TAUT 8 cm AN a1l Ied & dw B T | A M1 o 9187 v A W R €, 79
AB @9 dTel g BT &Fhe ST dHY e

(@ 367 (b) 64 1
(c)144m (d) 256w
Answer : (a)

A conical cup is filled with icecream. The ice-cream forms a hemispherical shape on its open
top. The height of the hemispherical part is 7 cm, the radius of the hemispherical part equals

the height of the cone. Then the volume of the ice-cream is [n = 2—72]/w g ATGADH W 2 |

E D HUR AGADA UP AGIcl BT ATBR of ol & | JGI DI Hars 7 FHL 2| Agel I e
qoIT T B SHATS T B | MDA BT AT AT PN |
(a) 1078 cubic cm
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(b) 1708 cubic cm

(c) 7108 cubic cm

(d) 7180 cubic cm

Answer : (a)

A hollow sphere of internal and external diameter 6 cm and 10 cm respectively is meleted
into a right circular cone of melted into a right circular cone of diameter 8 cm. The height of
the cone is/e J#I. aRa T 10 FHI. T84 AN dTell WiEel! . &I fUeemax 8 ¥l 99 aTel 3|
aRafla faar | 2ig &1 Sars A BRI?

(@ 22.5cm (b) 23.5cm
(c) 25.5cm (d) 25.5 cm
Answer : (c)

A flask in the shape of a right circular cone of height 24 cm is filed with water. The water is
poured in right circular cylindrical flask whose radius is § rd of radius of the base of the
circular cone. Then the height of the water in the cylindrical flask is/f&=il 24 &+ =18 arel
m%gzﬁqvﬁﬁwwaﬂqﬁaﬁwémwﬁww,ﬁmtﬁﬁwaﬁgaﬁﬁmm%%l
JATHR U H G B A T BRI?

(@) 32cm (b) 24 cm
(c) 48 cm (d) 72 cm
Answer : (d)

A solid metallic spherical ball of diameter 6 cm is melted and recast into a cone with

diameter of the base as 12 cm. The height of the cone is/6 &I =/ arell T &1 UEETdR 12
Q1. 1 arel T H uRafdd A Tar| e B Hars wd HRI?

(@ 2cm (b) 3cm
(c)4 (d) 6cm
Answer : (b)
A 8 sin 0+5cos @
If tan 6 = 1, then the value of SO 0-20053647 cos
(a) 2 (b) 25
(©3 (d) 2
Answer : (a)
If £29+€059 _ 3 then then value of sin* 8~ cos*8 is
srrlla—cose 3
(a) Zg (b)
(©= (d) 2
Answer : (b)
If sin & — cos @ = 0, then what is sin* 8 + cos*8 equal t0?
3
(a) 1 (b) 2
1 1
(©) 3 (d)-
Answer : (C)
If sin @ + cos 6 = /3, then what is tan 6 + cot 6 equal to>
(@)1 (b) V2
(c)2 (d) V3
Answer : ()
If tan 6 + sec & = m, then what is sec 6 equal to?
m?-1 m?+1
@) —— (b) =



X/
o

m+1

Opas (d) =
Answer : (b)

A solid metallic spherical ball of diameter 6 cm is melted and recast into a cone with
diameter of the base as 12 cm. The height of the cone is/e &I =/ arell T @1 UgETHR 12

JHI. A dTet vig | uRafiia fear ) 2 o SarE A wRI?

(b) 2cm (b) 3cm
(c)4 (d) 6cm
Answer : (b) .
If tan 6 = 1, then the value of — > +5¢0s0
stln 6—2cos36+7cos @
(b) 2 (b) 2 >
(©)3 (d) 2
Answer : (a)
sin0+<0s8 _ 3 then then value of sin* 8~ cos*8 is
strlle—cose 3

(b) 5 (b) 5
©< (d);
Answer : (b)
If sin & — cos @ = 0, then what is sin* 8 + cos*6 equal to?
(b) 1 (b) >

1 1
(©) 3 (d
Answer : (c)
If sin 0 + cos 6 = /3, then what is tan 6 + cot 6 equal to>
(b) 1 (b) V2
(c) 2 (d)v3
Answer : (a)
If tan 8 + sec & = m, then what is sec 6 equal to?

m?-1 m?+1
0) "5 Ok
() == (d) =5
Answer : (b)

If cosA + cos? A = 1, then what is the value of 2(sin’4 + sin*A)?
(a) 4 (b) 2

(©1 (d) %2
Answer : (b)
If secO + tand = 2 + /5, then the value of sin 8 + cos @ is ;
3
(@) g—g (b) \{3
() = @)=
Answer : (a)
The value of
1 1

cosec B—cotb sin @
@1 (b) cotd
(c) cosec 6 (d) tan®
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Answer : (b)
If cos @ + sinf = /2 cos 6, then cos @ — sin 6 is

(@) V2 tand (b) —V/2 cos6
(c) =2 sind (d) v2sin@
Answer : (d)
The value of
1+sinf cosO
sec 0 ( cos6 1+sin9)
—2tan?6 is
(@ 4 (b) 1
(c) 2 (d)o
Answer : (C)
Find the value of 1 — 2 sin? 8 + sin* 6,
(a) sin*o (b) cos* 6
(c) cosec*8 (d) sec*8
Answer : (b)
1+sinf 1-sinf .
\]151‘119 + \I 1+sinf < equal to
(@) 2cos@ (b) 2sin 6@
(c) 2cotB (d) 2sech
Answer : (d)
What is the expression ——— — 2% aqual to?
1+secx 1—-secx
(a) cosecx (b) 2 cosecx
(c) 2 sinx (d) 2 cosx
Answer : (b)
If tan 6 = sina—cosa

sin a+cosa

(a) V2 cos 6, V2sin 6
(b) V2sin 6,+/2 cos 6
(c) V2sinB, /2 sin O

(d) V2cos8, V2 cos 6

Answer : (a)

2sin?B + 4 cos(a + B) sin asin B + cos?(a + B) =?
(@) sina (b) cos?p
(c) cos?a (d)sin?p
Answer : (C)
The value of cos12° + c0s84° + cos156° + cos132° is
OF (b)1

1 1
© —; ()
Answer : (C)
If x = cos10° cos20° cos40°, then x =?
(a) ~tan10° (b) 5 tan 10°
(c) 7 cot10° (d) 3 cot10°

Answer : (d)

, then sin a + cos a and sin @ — cos a are equal to



R/
L X4

/7
A X4

sin12%sin24%sin48%sin84° =7

(@) c0s20° cos40° cos60° cos80°

(b) sin20° sin40° sin60°sin80°
3

(c) %

(d) T

Answer : (d)

tan 5x tan 3x tan 2x =?

(@) tan5x — tan 3x — tan2x

(b) 0

sinbx—sin3x—sin2x
(©)

c0S5x—c0s3x—cos2x

(d) tan9x

Answer : (a)

f =2 = p and —= = g, then tan x =?
iny cosy

p |22 p |21
@ 5 CHNE
2 55 @2 1=
q 2

1-p py 1-p?
Answer : (a)




